Answers

1) a) locm
b) éem
c) léem o
2) a) 4cm
lcm lcm 2cm 2cm
4cm

49cm

b) Example answers:

Perimeter = 20cm Perimeter = 20cm
4em
lem
2em
Gem 2em
4em
Perimeter = 16cm
4em
2em 4em
lem
lem
4em

lem

1) Meera is incorrect as shape A has a perimeter of 24¢cm and shape B has a perimeter of 19¢m.

2) David is correct. The compound shape has a perimeter of 24cm, which is the same as the rectangle he has

described.

1) There are IS different possible rectangles, with the following measurements: lem by 23¢m, 2em by 28cem,
3em by 27¢m, gem by 26¢em, Sem by 2Sem, 6em by 24em, 27em by 23cm, Zem by 22em, 4em by 21em,
10cm by 20cm, llem by 19¢m, 12¢m by 18cm, 13cm by 17¢m, 19¢m by 16cm and 1Sem by 1Sem.

2) The field has a perimeter of 37¢cm which scales up to 370m.

Wooden Fencing Electric Fencing
250m 120m
245m 128m
240m 130m
2385m 135m
230m 190m
2285m 195m
220m 1Som
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